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QUESTION: 116 

What can be used to backup open files in an Oracle database? 

A. IBM Tivoli Storage Manager for Oracle
B. IBM Tivoli Storage Manager for Databases
C. IBM Tivoli Data Protection for Open File Systems
D. IBM Tivoli Storage Manager for Relational Databases

Answer: B 

QUESTION: 117 
The Table of Content (TOC) for network data management protocol backups is needed.
 
The TOC must be placed in a separate storagepool tocpool. Which option reflects the 
correct assignment of the TOCto the storage pool? 


A. destination=naspool
B. tocdestination=stgpool
C. tocdestination=tocpool
D. tocdestination=toctapepool

Answer: C 

QUESTION: 118 
Which operating system(s) can be automatically upgraded to the next higher client level so 
that this new client level can be deployed? 

A. AIX
B. HP and Solaris
C. Windows Server 2003 and Windows Server 2008
D. Red Hat Enterprise Linux 5.0 and SUSE Linux Enterprise Server 10

Answer: C 

QUESTION: 119 
With the new extension querysummary ofthe command query backup, it is possible to get 
additional information for the restore procedure. What additional information is provided? 
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A. estimated restore time
B. estimated number of files
C. estimated number of volumes
D. estimated filespacesize needed for restore

Answer: C 

QUESTION: 120 

What must be used to enable encryption on the client?
 

A. the client option include.dir
B. the client option encryption=yes
C. the client option include.encrypt
D. the server option include.encrypt

Answer: C 

QUESTION: 121 
Management decided that an archive copy group is no longer required. Which command 
allows an IBM Tivoli Storage Manager V6.2 administrator to delete the archive copy 
group from the MCLASS1 management class that is in the SUMMER policy set of the 
PROG1 policy domain? 

A. delete copygroup summer mclass1 type=archive prog1
B. delete copygroup prog1 mclass1 type=archive summer
C. delete copygroup prog1 summer type=archive mclass1
D. delete copygroup prog1 summer mclass1 type=archive

Answer: D 

QUESTION: 122 
Which command detects a possible security attack when client-side data deduplication is 
enabled? 

A. Q CLIENTDEDUPATCK
B. SET DEDUPVERIFICATIONLEVEL
C. IDENTIFY DUPLICATES SECURE=YES
D. UPDATE STGPOOL <POOL_NAME>SECURDEDUP=YES
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Answer: B 

QUESTION: 123 

Which statement is true about client slide data deduplication and data processing?
 

A. It takes place exclusively on the client.
B. It takes place exclusively on the server.
C. It takes place on a virtual library or file device class.
D. It is distributed between the server and the Backup-Archive client.

Answer: D 

QUESTION: 124 

Which statement is true about the processing location for client-side data deduplication? 

A. It takes place exclusively on the client.
B. It takes place exclusively on the server.
C. It takes place on a virtual library or file device class.
D. It is distributed between the server and the Backup-Archive client.

Answer: D 

QUESTION: 125 

What is the order of volume statesfor tape media within Disaster Recovery Management?
 

A. onsite, courier, vault, transit
B. notmountable, courier, vault, retrieve, courier, onsite
C. mountable, courier, vault, vaultretrieve, courier, onsite
D. mountable, notmountable, courier, vault,vaultretrieve, courierretrieve, onsiteretrieve

Answer: D 

QUESTION: 126 

Which command enables more space for the database? 
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A. define dbvol 
B. extend dbspace 
C. expand dbspace 
D. dsmserv format volume 

Answer: B 

QUESTION: 127 
Which tuning option, when adjusted to a lower value, reduces network traffic from client 
sessions? 

A. SET RETRYPERIOD 
B. SET SCHEDPOLLING 
C. SET MAXCMDRETRIES 
D. SET QUERYSCHEDPERIOD 

Answer: C 

QUESTION: 128 

What is the storage hierarchy used for? 


A. to arrange data by usage 
B. to define an order of usage 
C. to provide a path to expiration 
D. to distinguish levels and types of storage pools  

Answer: D 

QUESTION: 129 
A manual backup of data from an IBM Tivoli Storage Manager V6.2 client failed. Which 
default log file should be checked to obtain more information about the failure? 

A. client.log 
B. dsmerror.log 
C. dsmsched.log 
D. dsmwebgui.log 
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Answer: B 
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